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1. isfxax dh fØ;k fdl Qly esa gksrh gS \  
1. In which crop the process of Pegging 

takes place ? 

(A) ew¡xQyh  (A) Groundnut 

(B) rEckdw  (B)  Tobacco 

(C) xUuk  (C)  Sugarcane 

(D) vkyw  (D)  Potato 

2. fdl jkT; dk [kk|kUu mRiknu esa izFke LFkku 

gS \ 

 
2. Which state has highest rank in foodgrain 

production ? 

(A) egkjk”Vª  (A) Maharashtra 

(B) mŸkj izns’k  (B)  Uttar Pradesh 

(C) iatkc  (C)  Punjab 

(D) jktLFkku  (D)  Rajasthan 

3. jpkbZ dh fØ;k fdl Qly esa gksrh gS \ 
 

3. In which crop does the process of curing 

take place ? 

(A) vkyw  (A) Potato 

(B) xUuk  (B)  Sugarcane 

(C) rEckdw  (C)  Tobacco 

(D) dikl  (D)  Cotton 

4. uxnh Qly dk mnkgj.k gS % 
 

4. Example of cash crop is : 

(A) vkyw  (A) Potato 

(B) xUuk  (B)  Sugarcane 

(C) rEckdw  (C)  Tobacco 

(D) mi;qZDr lHkh  (D)  All of the above 
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5. fuEufyf[kr esa ls xsgw¡ dh Qly dk eq[; 

[kjirokj dkSu&lk gS \ 

 
5. Which of the following is a major weed 

of wheat crop ? 

(A) Qysfjl ekbuj  (A) Phalaris minor 

(B) lkbuksMkWu MsDVhykWu  (B)  Cynodon dactylon 

(C) QkbysUFkl fu:jh  (C)  Phyllanthus niruri 

(D) mi;qZDr lHkh  (D)  All of the above 

6. dikl dh [ksrh ds fy, dkSu&lh e`nk mi;qDr 

gS \ 

 
6. Which soil is suitable for cotton 

cultivation ? 

(A) yky e`nk  (A) Red soil 

(B) dkyh e`nk  (B)  Black soil 

(C) tyks<+ ènk  (C)  Alluvial soil 

(D) ihyh ènk  (D)  Yellow soil 

7. cht dh cqokbZ djuk gS % 
 

7. Sowing of seed is a : 

(A) izkFkfed Hkwifj”dj.k  (A) Primary tillage 

(B) f}rh;d Hkwifj”dj.k  (B)  Secondary tillage 

(C) laj{k.k Hkwifj”dj.k  (C)  Conservation tillage 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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8. feêh p<+kus dh fØ;k fdl Qly esa dh tkrh 

gS \ 

 
8. In which crop the process of earthing is 

done ? 

(A) xsgw¡  (A) Wheat 

(B) /kku  (B)  Paddy 

(C) eDdk  (C)  Maize 

(D) vkyw  (D)  Potato 

9. dkSu&lh Qly ok;qe.Myh; ukbVªkstu dk e`nk 

esa fLFkjhdj.k djrh gS \ 

 
9. Which crop fixes atmospheric nitrogen in 

the soil ? 

(A) fryguh Qlysa  (A) Oilseed crops 

(B) nyguh Qlysa  (B)  Legume crops 

(C) vukt okyh Qlysa  (C)  Cereals 

(D) js’ks okyh Qlysa  (D)  Fibre crops 

10. mnklhu e`nk dk ih-&,p- gksrk gS % 
 

10. pH of neutral soil is : 

(A) 7.8  (A) 7.8 

(B)  7.0  (B)  7.0 

(C)  8.0  (C)  8.0 

(D)  9.0  (D)  9.0 
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11. lks;kchu esa rsy dk izfr’kr gksrk gS % 
 

11. The percentage of oil in soybean is : 

(A) 18-22%  (A) 18-22% 

(B)  20-25%  (B)  20-25% 

(C)  45-50%  (C)  45-50% 

(D)  30-40%  (D)  30-40% 

12. xqykch lw¡M+h fdl Qly dk izeq[k dhV gS \ 
 

12. Pink boll worm is a major insect of which 

crop ? 

(A) dikl  (A) Cotton 

(B) twV  (B)  Jute 

(C) ljlksa  (C)  Mustard 

(D) eDdk  (D)  Maize 

13. xkscj dh [kkn esa fdrus izfr’kr ukbVªkstu 

gksrh gS \ 

 
13. What percentage of nitrogen is in farm 

yard manure ? 

(A) 0.5%  (A) 0.5% 

(B)  0.2%  (B)  0.2% 

(C)  0.3%  (C)  0.3% 

(D)  0.4%  (D)  0.4% 

14. fuEufyf[kr esa ls dkSu&lk Hkkjh dkcZfud [kkn 

ugha gS \ 

 
14. Which of the following is not a bulky 

organic manure ? 

(A) xkscj dh [kkn  (A) Farm yard manure 

(B) oehZdEiksLV  (B)  Vermicompost 

(C) gjh [kkn  (C)  Green manure 

(D) [kyh  (D)  Oil cakes 
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15. nyguh Qlyksa esa izpqjrk gksrh gS % 
 

15. Legume crops are rich in : 

(A) dkcksZgkbMªsV dh  (A) Carbohydrate 

(B) izksVhu dh  (B)  Protein 

(C) rsy dh  (C)  Oil 

(D) olk dh  (D)  Fat 

16. lL; foKku dk firk dkSu gS \ 
 

16. Father of Agronomy is : 

(A) ihVj MsØslsUth  (A) Petero Decresenzi 

(B) tsFkjks Vqy  (B)  Jethro Tull 

(C) yhfcx  (C)  Liebig 

(D) ,e- ,l- LokehukFku  (D)  M. S. Swaminathan 

17. fdl Qly dks cqokbZ ds le; fuEu rkieku 

dh vko’;drk gksrh gS \ 

 
17. Which crop requires lower temperature at 

the time of sowing ? 

(A) eDdk  (A) Maize 

(B) xsgw¡  (B)  Wheat 

(C) /kku  (C)  Rice 

(D) dikl  (D)  Cotton 
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18. fuEufyf[kr esa ls dkSu&lk dkWEIysDl moZjd  

gS \ 

 
18. Which of the following complex  

fertilizer ? 

(A) ;wfj;k  (A) Urea 

(B) E;wjsV vkWQ iksVk’k  (B)  Murate of potash 

(C) flaxy lqijQkWLQsV  (C)  Single superphosphate 

(D) MkbZveksfu;e QkWLQsV  (D)  Diammonium phosphate 

19. e`nk jpuk dks ifjofrZr fd;k tk ldrk gS % 
 

19. Texture of soil can be changed by : 

(A) moZjd }kjk  (A) Use of fertilizer 

(B) ÇlpkbZ }kjk  (B)  Irrigation 

(C) dkcZfud [kkn }kjk  (C)  Use of organic manures 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

20. /kku dk oSKkfud uke gS % 
 

20. Botanical name of paddy : 

(A) vksjkbtk lsVkbok  (A) Oryza Sativa 

(B) ft;k est  (B)  Zea mays 

(C) ikble lsVkboe  (C)  Pisum sativum 

(D) ,osuk QsVqvk  (D)  Avena fatua 
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21. vkoj.k Qly dk mnkgj.k gS % 
 

21. Example of cover crop is : 

(A) eDdk  (A) Maize 

(B) cktjk  (B)  Pearl millet 

(C) /kku  (C)  Paddy 

(D) mnZ  (D)  Urd 

22. ^lL; foKku* ‘kCn fdl Hkk”kk dk gS \ 
 

22. The term ‘Agronomy’ is derived from 

which language ? 

(A) ySfVu  (A) Latin 

(B) xzhd  (B)  Greek 

(C) Ýsap  (C)  French 

(D) Hkkjrh;  (D)  Indian 

23. Hkwifj”dj.k dk firk gS % 
 

23. Father of Tillage is : 

(A) ihVj MsØslsUth  (A) Petero Decresenzi 

(B) tsFkjks Vqy  (B)  Jethro Tull 

(C) ,l- ,l- csUl  (C)  S. S. Bains 

(D) th- ts- esUMy  (D)  G. J. Mendel 

24. ;wfj;k esa ukbVªkstu dh izfr’krrk gksrh gS % 
 

24. Percentage of nitrogen in urea is : 

(A) 46  (A) 46 

(B)  48  (B)  48 

(C)  20  (C)  20 

(D)  16  (D)  16 
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25. mŸkj izns’k esa dkSu&lh Qly rhuksa ekSle esa 

mxkbZ tkrh gS \ 

 
25. Which crop is grown in U. P. in all the 

three seasons ? 

(A) eDdk  (A) Maize 

(B) vkyw  (B)  Potato 

(C) /kku  (C)  Paddy 

(D) dikl  (D)  Cotton 

26. [kSjk jksx lEcfU/kr gS % 
 

26. Khaira disease belongs to : 

(A) xsgw¡ ls  (A) Wheat 

(B) eDdk ls  (B)  Maize 

(C) /kku ls  (C)  Rice 

(D) Tokj ls  (D)  Sorghum 

27. ^gkWlZ gksb±x glcsUMªh* fdlds }kjk fy[kh  

xbZ \ 

 
27. ‘Horse Hoeing Husbandry’ was written  

by : 

(A) tsFkjks Vqy  (A) Jethro Tull 

(B) vkFkZj ;ax  (B)  Arthur Young 

(C) ts- ,l- dq¡oj  (C)  J. S. Kunwar 

(D) ts- oh- yhfcx  (D)  J. V. Liebig 

28. vjgj dh mfpr cht nj gS % 
 

28. The optimum seed rate of pigeon-  

pea : 

(A) 10-12 fdxzk-/gs-  (A) 10-12 kg/ha. 

(B)  12-15 fdxzk-/gs-  (B)  12-15 kg/ha. 

(C)  15-20 fdxzk-/gs-  (C)  15-20 kg/ha. 

(D)  20-25 fdxzk-/gs-  (D)  20-25 kg/ha. 
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29. e`nk gok esa dkcZu MkbZ&vkWDlkbM dh 

izfr’krrk gksrh gS % 

 
29. Percentage of CO2 in soil air is : 

(A) 0.3%  (A) 0.3% 

(B)  0.03%  (B)  0.03% 

(C)  0.25%  (C)  0.25% 

(D)  0.50%  (D)  0.50% 

30. fuEufyf[kr esa ls dkSu&lk ,d xSj&p;ukRed 

‘kkduk’kh gS \ 

 
30. Which one of the following is a non-

selective herbicide ? 

(A) XykbQkslsV  (A) Glyphosate 

(B) iSjkDokV  (B)  Paraquat 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

31. ÇlpkbZ ds ikuh ds lkFk moZjd ds iz;ksx dks 

dgrs gSa % 

 
31. Use of fertilizer with irrigation water is 

called : 

(A) /kweu  (A) Fumigation 

(B) QVhZxs’ku  (B)  Fertigation 

(C) vyxko  (C)  Isolation 

(D) mi;qZDr lHkh  (D)  All of the above 



 

Ag-102 ( 12 )  Set-D 

32. Hkkjrh; ekSle foKku foHkkx dh LFkkiuk dc 

gqbZ \ 

 
32. Indian Meteorological Department was 

established in : 

(A) 1975  (A) 1975 

(B)  1875  (B)  1875 

(C)  1932  (C)  1932 

(D)  1962  (D)  1962 

33. ok;qe.My dh fupyh lrg gS % 
 

33. Lower surface of atmosphere is : 

(A) VªksiksLQh;j  (A) Troposphere 

(B) ehlksLQh;j  (B)  Mesosphere 

(C) LVªsVksLQh;j  (C)  Stratosphere 

(D) FkeksZLQh;j  (D)  Thermosphere 

34. ,tksyk ,d gS % 
 

34. Azolla is a : 

(A) ‘kkduk’kh  (A) Herbicide 

(B) dhVuk’kh  (B)  Insecticide 

(C) doduk’kh  (C)  Fungicide 

(D) tSomoZjd  (D)  Biofertilizer 

35. Hkkjrh; d`f”k vuqla/kku laLFkku dgk¡ gS \ 
 

35. Indian Agriculture Research Institute is 

located in : 

(A) y[kuÅ  (A) Lucknow 

(B) Hkksiky  (B)  Bhopal 

(C) gSnjkckn  (C)  Hyderabad 

(D) ubZ fnYyh  (D)  New Delhi 
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36. fuEufyf[kr esa ls dkSu&lk dkcZfud [kkn gS \ 
 

36. Which of the following is organic manure ? 

(A) dEiksLV  (A) Compost 

(B) xkscj dh [kkn  (B)  Farm Yard Manure 

(C) dsapq, dh [kkn  (C)  Vermicompost 

(D) mi;qZDr lHkh  (D)  All of the above 

37. vkstksu ijr ikbZ tkrh gS % 
 

37. Ozone layer is found in : 

(A) LVªsVksLQh;j esa  (A) Stratosphere 

(B) ehlksLQh;j esa  (B)  Mesosphere 

(C) VªksiksLQh;j esa  (C)  Troposphere 

(D) FkeksZLQh;j esa  (D)  Thermosphere 

38. eksuksØkWfiax dh Qly l?kurk ges’kk gksrh gS % 
 

38. Cropping intensity of monocropping is 

always : 

(A) 100%  (A) 100% 

(B)  200%  (B)  200% 

(C)  300%  (C)  300% 

(D)  400%  (D)  400% 

39. gok dh xfr fdlds }kjk ekih tkrh gS \ 
 

39. Wind speed is measured by : 

(A) okr fnXn’kZd  (A) Wind vane 

(B) ,uheksehVj  (B)  Anemometer 

(C) iksVksehVj  (C)  Potometer 

(D) VsfUl;ksehVj  (D)  Tensiometer 
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40. Hkkjr esa fdrus tyok;q {ks= gSa \ 
 

40. There are how many climatic zones in 

India ? 

(A) 16  (A) 16 

(B)  15  (B)  15 

(C)  20  (C)  20 

(D)  9  (D)  9 

41. ‘kq) gok esa vkWDlhtu dk fdruk izfr’kr 

gksrk gS \ 

 
41. What is the percentage of oxygen in pure 

air ? 

(A) 21%  (A) 21% 

(B)  20%  (B)  20% 

(C)  19%  (C)  19% 

(D)  78%  (D)  78% 

42. fuf’pr iafDr O;oLFkk ds lkFk ,d gh Hkwfe ds 

VqdM+s ij nks ;k nks ls vf/kd Qlyksa dks 

mxkuk dgykrk gS % 

 
42. Growing of two or more crops 

simultaneously on the same piece of land 

with definite row arrangement is called : 

(A) fefJr Qly  (A) Mixed cropping 

(B) vUr% Qly  (B)  Intercropping 

(C) fefJr [ksrh  (C)  Mixed farming 

(D) vuqØfed Qly  (D)  Sequential cropping 
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43. nyguh Qly ds cht dks mipkfjr fd;k 

tkrk gS % 

 
43. The seed of pulse crops is inoculated by : 

(A) jkbtksfc;e dYpj }kjk  (A) Rhizobium culture 

(B) uhy gfjr ‘kSoky }kjk  (B)  Blue green algae 

(C) ,tksyk }kjk  (C)  Azolla 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. Hkkjrh; d`f”k vuqla/kku ifj”kn~ dh LFkkiuk dc 

gqbZ Fkh \ 

 
44. Indian Council of Agriculture Research 

was established in : 

(A) 1939  (A) 1939 

(B)  1929  (B)  1929 

(C)  1938  (C)  1938 

(D)  1949  (D)  1949 

45. fuEufyf[kr esa ls dkSu&lk ikS/ks dk ewy iks”kd 

rRo gS \ 

 
45. Which of the following is a basic plant 

nutrients ? 

(A) dkcZu  (A) Carbon 

(B) gkbMªkstu  (B)  Hydrogen 

(C) vkWDlhtu  (C)  Oxygen 

(D) mi;qZDr lHkh  (D)  All of the above 



 

Ag-102 ( 16 )  Set-D 

46. MkbZveksfu;e QkWLQsV esa ukbVªkstu dk izfr’kr 

gksrk gS % 

 
46. The percentage of nitrogen in Di- 

ammonium phosphate is : 

(A) 46%  (A) 46% 

(B)  18%  (B)  18% 

(C)  20%  (C)  20% 

(D)  21%  (D)  21% 

47. fuEufyf[kr esa ls dkSu&lk ikS/ks dk f}rh;d 

iks”kd rRo ugha gS \ 

 
47. Which of the following is not secondary 

plant nutrients ? 

(A) dSfY’k;e  (A) Calcium 

(B) eSXuhf’k;e  (B)  Magnesium 

(C) iksVSf’k;e  (C)  Potassium 

(D) lYQj  (D)  Sulphur 

48. ‘kdZjk Qly dk mnkgj.k gS % 
 

48. Example of sugar crop : 

(A) pqdUnj  (A) Sugarbeet 

(B) dikl  (B)  Cotton 

(C) xUuk  (C)  Sugarcane 

(D) (A) vkSj (C) nksuksa  (D)  Both (A) and (C) 

49. twV fdl dqy dk ikS/kk gS \ 
 

49. Family of jute is : 

(A) fVfy,lh  (A) Tiliaceae 

(B) ekyoslh  (B)  Malvaceae 

(C) ,fy,lh  (C)  Aliaceae 

(D) ,LVjslh  (D)  Asteraceae 
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50. jsVwu Qly ,d mnkgj.k gS % 
 

50. Ratoon cropping is an example of : 

(A) vuqØfed Qly dk  (A) Sequential cropping 

(B) vUr% Qly dk  (B)  Inter-cropping 

(C) fjys ØkWfiax dk  (C)  Relay cropping 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

51. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha 

gS \ 

 
51. Which of the following is not correctly 

matched ? 

(A) xUuk iks,lh  (A) Sugarcane—Poaceae 

(B) Qkylk fVfy,lh  (B)  Phalsa—Tiliaceae 

(C) yglqu ,fy,lh  (C)  Garlic—Aliaceae 

(D) ukbtj iks,lh  (D)  Niger—Poaceae 

52. fuEufyf[kr esa ls dkSu&lh jch ekSle dh 

Qly ugha gS \ 

 
52. Which of the following is not a Rabi 

Season Crop ? 

(A) vkyw  (A) Potato 

(B) xUuk  (B)  Sugarcane 

(C) xsgw¡  (C)  Wheat 

(D) puk  (D)  Chick pea 
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53. vjgj dk okuLifrd uke gS % 
 

53. Botanical name of Arhar is : 

(A) dStsul dtku  (A) Cajanus cajan 

(B) vksjkbtk lsVkbok  (B)  Oryza sativa 

(C) ft;k est  (C)  Zea mays 

(D) ,osuk QsVqvk  (D)  Avena fatua 

54. fuEufyf[kr esa ls dkSu&lh Qly js’ks okyh 

gS \ 

 
54. Which of the following is a Fibre Crop ? 

(A) dikl  (A) Cotton 

(B) twV  (B)  Jute 

(C) esLVk  (C)  Mesta 

(D) mi;qZDr lHkh  (D)  All of the above 

55. lgh lqesfyr ugha gS % 
 

55. Not correctly matched : 

(A) /kku vksjkbtk lsVkbok  (A) Rice—Oryza sativa 

(B) ew¡x foxuk jsfM,Vk  (B)  Green Gram—Vigna radiata 

(C) Tokj lksj?ke ckbdyj  (C)  Sorghum—Sorghum bicolor 

(D) elwj lkblj ,jhfVue  (D)  Lentil—Cicer arietinum 

56. /kku&xsgw¡ gS ,d % 
 

56. Rice-wheat is a : 

(A) ,do”khZ; Qly pØ  (A) One year crop rotation 

(B) f}o”khZ; Qly pØ  (B)  Two year crop rotation 

(C) f=o”khZ; Qly pØ  (C)  Three year crop rotation 

(D) pkj o”khZ; Qly pØ  (D)  Four year crop rotation 
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57. eDdk dh dVkbZ ls iwoZ gh vkyw dh jksikbZ 

djuk mnkgj.k gS % 

 
57. Potato is planted before the harvesting of 

maize is an example of : 

(A) vUr% Qly dk  (A) Inter-cropping 

(B) fefJr Qly dk  (B)  Mixed cropping 

(C) vuqØfed Qly dk  (C)  Sequential cropping 

(D) fjys ØkWfiax dk  (D)  Relay cropping 

58. [kjirokj gS ,d %  58. Weed is a/an : 

(A) vokaNuh; ikS/kk  (A) Undesirable plant 

(B) Qly dk ikS/kk  (B)  Crop plant 

(C) (A) ,oa (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

59. ysX;wfeukslh dk nwljk uke gS %  59. Another name of Leguminosae : 

(A) fVfy,lh  (A) Tiliaceae 

(B) Qscslh  (B)  Fabaceae 

(C) ØwlhQsjh  (C)  Crucifereae 

(D) ,fy,lh  (D)  Aliaceae 

60. xUuk esa xq.klw= dh la[;k gksrh gS %  60. Chromosome number in sugarcane is : 

(A) 2n = 80  (A) 2n = 80 

(B)  2n = 60  (B)  2n = 60 

(C)  2n = 40  (C)  2n = 40 

(D)  2n = 82  (D)  2n = 82 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 


